
1-10 90 80 70 60 50 40 30 20 10 0

1) 9 × 2 = 44 - N 2) 7 + P = 6 × 2

3) Y + 2 = 4 + 43 4) 49 - K = 4 × 6

5) P - 48 = 34 + 1 6) 6 × 3 = J - 38

7) 18 + 39 = 84 - P 8) 69 - K = 8 × 3

9) Y × 3 = 6 × 5 10) 92 - W = 28 + 17

1. 26

2. 5

3. 45

4. 25

5. 83

6. 56

7. 27

8. 45

9. 10

10. 47

     

Determine the value of the variable.
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1-10 90 80 70 60 50 40 30 20 10 0

1) 9 × 2 = 44 - N 2) 7 + P = 6 × 2

3) Y + 2 = 4 + 43 4) 49 - K = 4 × 6

5) P - 48 = 34 + 1 6) 6 × 3 = J - 38

7) 18 + 39 = 84 - P 8) 69 - K = 8 × 3

9) Y × 3 = 6 × 5 10) 92 - W = 28 + 17

1. 26
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4. 25
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8. 45

9. 10

10. 47

     

Determine the value of the variable.
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